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Mt

€:E3::) (BT : kg )
SRR ==Y H 2 5 1B Z B fm &
BEERXFE 52 |[BESX 71.0 2,156 300
_~ 31.7 319 20
=>0OX/)VUl 59.1 2,180 400
AXF 19.8 893 700
JdEHAN 57.2 129 20
SFOA 136.3 3,000 840
TRIRD 48.3 1,660 50
Y= 23.7 1,700 800
BiE ot TR S A 2,424.2 750 300
NC 338 EXTYRS 418.2 203 100
<45 2.4 1,200 300
astyE 3,291.9




[(&£) (BT ¢ kg )
JRETELE =V n = = 1B Z 1B B &
EEXRIFE 5S52€ |E5 X 593.9 2,300 500
A2HLA 64.5 800 500
<AL A 21.5 1,300 300
#]D 27& E=5 X 219.0 2,500 1,000
XXF 20.6 800 400
N 33& <A 3,645.9 1,250 1,000
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